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One who buys wine from among the Koosim - 2501277 731 1°° 121557

Overview

The X771 cites a case where one bought wine from the 2°n13; regarding how he may
drink it even though mAwyn1 NN were not yet separated. Our MdOIN explains
why in general one may drink wine from a°n1.
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This (121 1> 17197 cited here) is a 813, for in the 73wn of 't P92 in "X%T Noon, it
only states the view of »''% alone, not of the other o°X1n mentioned here.

mMooIn responds to an anticipated difficulty:
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And even though, in the first P22 of 117 noon, »''1 made an injunction against
drinking wine from a°n13, this (71wn) Xn>72 was taught before the 779913 —

mooIn anticipates a further difficulty:
= (3,0 97 INYNY? /9 P93 HININA 1N XIADT ) DY N )IYNY 239 Y01’ »29)

And regarding >''% and @w''9, even though that they maintain in nym» noon in
bRYRWY ' pIp -
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That 2°n1> are n1aR 73, for they maintain that one may separate 772190 from

produce which belongs to a 3121 for produce which belongs to 2°n12, so how can we
drink their wine, it is wine of a "1, which is prohibited?!6

! 7" 1"D "RAT RNDOIN.

? Only the view of »"7 is mentioned ano (not even his name), but not the view and names of the other o°Xin brought
here. See ‘Thinking it over’ # 1.

* How is one altogether permitted to drink *m3 1 even if »"1n were separated?

* nx > literally mean converts (because of) lions. There is a dispute whether the 2°n13 are n»X 3, meaning that
(initially) they were true converts, or they converted because they were being attacked by lions and were told that if
they convert, the lions would stop attacking them. This makes their conversion meaningless and they are considered
as gentiles. See “Thinking it over’ # 2.

> One may give 7770 from produce which is 771902 2 on other produce which is 7702 27, and one may also
give 17N (voluntarily) from produce which is 71702 M5 on other produce which is 72170 719, however one may
not give MWD HY 21MA or A1 PY MudnA. W' "1 maintain one may not give 72170 from a YXW° on a 131 or a *M>
and vice versa because it is MW7 HY 210N or 211 Y TWon respectively; however one may give from a *131 on a
>m2 and vice versa, since it is 710971 YV 7R, for o°N13 are the same as 0121 since their N17°3 is invalid.

% We are discussing o ono, meaning wine which we are not aware that the 321 poured it for 1"y, rather it is regular
wine. N1©OIN assumes that the prohibition for drinking 01°> and was made much before the time of w"91>".
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mooIn responds:
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Nevertheless since they separate themselves from idol worship more than

other 2''12y and they keep the written 7791 -
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And they also do not worship their idol as they did during &= 02 -
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Therefore when they made the injunction regarding the wine of 23121 they did

not include 2°n> in this injunction -
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Even though an injunction was made on the bread of o°n13, nevertheless there
was no injunction for their wine. Or one can say that their wine was purified.

Summary
Even if we maintain that 23012 are D1°IX *3, nevertheless there was no 17°13 on their

wine (even though there was a 77°13 on their bread).

Thinking it over

1. Why was it necessary for m»d01n to mention in the beginning of this md01n that
this is a X3, but not a mwn,'’ and is there any connection between this
beginning and the rest of this NM»oIN?

2. Mmoo writes that according to w"1 *"3 the o°m> are n™x *w.'! Seemingly if
they are like 0131 so they are ¥pon from mwyn 211 according to w" M *"1," so
why does he need to be n"1n won altogether?!"?

7 The reason why 1 ono is oK is because the 0731 are prone to be 7o and we are concerned for this. However the
a°n12 are not suspect of this. However later (after this Xn»921 7awn) »"3 was 13 on *M> 7 also, as N190IN mentioned.
® This is another explanation why in our case one can drink *m2 1.

° There was, for instance, a 9% working for the *m3 and he made the wine, so the °n15 never touched the wine,
therefore it is permitted for a P8 w" to drink it.

19 See footnote # 2.

' See footnote # 4.

"2 They maintain 7nw1Tpn ¥°pom> 2"y 1P w°.

13 See apy> naxon.
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